Integral Practice Problems. To see the solution, place the cursor on the
appropriate line and press "enter":

> Ansl:=int((2*x"2-x+4)/(x"3+4*X),X);
Ansl = % In(x* +4) — % arctan(% xj +1In(x)

> Ans2:=int(exp(2*theta)*sin(3*theta),theta);

Ans’2 = - 3 o208
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%sin(30)

> Ans3:=int(1/(y*(2-y)),y);
Ans3:= % In(y) — % In(-2+y)

> Ans4:=int(t"2*cos(3*t),t);

Ans4 .= 3 tzsm(S [) > sin(3t) + 9 tcos(3t)
> Ans5:=int(x"3*exp(x"2),x);

Ans5:=— (-1 +x%) X

1
2
> Ans6:=int(x*5°x,X);

(-1 +xIn(5)) 5"

Ansb6 = 5
In(5)

> Ans7:=int((x—1)/(x"2+1),x);
Ans7:= % In(1 + x°) — arctan(x)

For Problem 8, Maple will give an inverse hyperbolic arc tangent. To verify
your solution, here is the integral using the substitution:

> Ans8:=int(1/((u+1)*(u-1)),u);
Ans8:= % In(u—1) — % In(u+1)

> subs(u=sqgrt(x+1),Ans8);

lln(\/x—l——l—l)—%ln(m—l—l)
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> Ans9 := int(y-sinh(y), y);
Ans9:= ycosh(y) —sinh(y)

> AnslO:= int(412, x];
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AnslO:= % In(x—1) —%ln(er 1) +l

X
o ).
> Ansll = int| ——, t|;
t+4

Ansll:i= % £—4t+16In(t+4)

> AnslZ:

int(cos(In(x)), x);

Ansl2:= % cos{In(x)) x+ % sin(In(x)) x

> Ansl3:= int( (x-1) : Xj;
x+4
Ansl3:=x—5In(x+4)
> Ansl4 := int{arctan(x), x);

Ansl4:= xarctan(x) — % In(1 +x°)
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